# Apartment in Marsaxlokk RE/MAX



Reference No: 240271020-97

#### Marsaxlokk, South



€292,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m<sup>2</sup>): **127** 

Bedrooms: 3

### **Apartment - For Sale - Marsaxlokk**

MARSAXLOKK - New to the Market is this new bright apartment situated in the heart of Marsaxlokk. Just a few meters away from the promenade. Layout consists of an open plan Kitchen/Living/Dining,complimented with a large balcony, a hallway that leads to 3 double bedrooms main with en-suite, main bathroom and a box room. All bedrooms lead to one big balcony. Property will be sold finished, excluding bathrooms and internal doors. Freehold, served with lift and will be finished by January 2021. Contact agent for more details.

#### **Features**

✓ Lift ✓ En Suite

Balcony

#### Rooms

Kitchen/Living/Dining: 4.72 x 8.5 m (40.12 m2)

Double Bedroom : 3.5 x 5 m (17.5 m2)

Double Bedroom : 3.6 x 4 m (14.4 m2)

Double Bedroom : 3.2 x 4 m (12.8 m2)

✓ Box Room : 1 x 0.5 m (0.5 m2)

Hallway: 1.4 x 12.5 m (17.5 m2)

✓ Bathroom : 2.3 x 2.3 m (5.29 m2)

✓ Bathroom Ensuite : 1 x 1.6 m (1.6 m2)

## **Gallery**













**Gerald Ancilleri** RE/MAX South - Marsascala

M: 99746504

E: gerald@remax.com.mt

T: 21555000

**RE/MAX South - Marsascala** 60,Triq is-Salini, Marsascala, Malta